Mathematics

Power Standards 7:1

Post-Formative Test

Name _________________________________________________________ Hour ___________

1. The following problem is an example of which property?

       6(4-2) = 24-12

A. commutative

B. associative

C. identity

D. distributive

2. What is the best estimate for [image: image2.png]


?

A. 7

B. 8

C. 9

D. 10

3. 3(12) + 3 (5) is equivalent to:

A. 15 + 15

B. 15 + 5

C. 12 + 15

D. 36 + 15

4. Simplify (3 · 4)2 ÷ 4 + (6 · 5).

A. 66

B. 33

C. 36

D. 43

5. Which of the following represents 5 · 5 · 5 in exponential notation?

A. 53
B. 55
C. 35
D. 51
6. Write as the product of the same factor and evaluate:
67 


7. Write as the product of the same factor and evaluate:
38 

8.  Find the correct prime factorization of 130.


9.  Find the GCF of 16x2y and 24x3y2.    


10.  Megan is throwing a birthday party for her brother.  She goes to the store and finds that forks come in packages of 30, spoons in packages of 20 and cups in packages of 15.  What is the minimum amount of each she needs to purchase if she wants to have the same number of forks, spoons, and cups?  

11. Simplify 5(3y + 7) using the distributive property.

A. 3y – 35               
B. 15y + 35

C. 15y + 7

D. 15y – 35

12.  Which of the following represents 7·7·7·7·7·7 in exponential notation?

A. 77
B. 67
C. 76
D. 75
13.  What is the prime factorization of 312?


A. 24 · 39

B. 2 ·33 · 13

C. 23 · 3 · 13

D. 32 · 13

14.  Find the GCF of 12, 36, and 64.

15. House representatives are elected every two years.  The President of the United States is elected every 4 years.  Senators are elected every 6 years.  All three were elected in the same year in 2004.  When is the next year all three will be elected again?


A. 2012

B. 2014

C. 2016

D. 2018

16. Dean spent a total of $32 on pizza, $16 on shirts, and $40 on used CDs. If each item cost the same amount, what is the greatest possible price per item? $8

17. Simplify 7(2x -6) using the distributive property.


A. 2x – 42     
B. 14x – 6

C. 9x -1

D. 14x – 42
18.  Use the Distributive Property to evaluate 9(11 – 4).

19.  Evaluate 2 · 9 - 3(6 - 1) + 1.
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